
Integral = MinMax %
Diff from STransform

Values MinMax RegularAvgStransformRankECDF [1]-0.7808121258 MinMax STransformRankECDF
1633 1 1 1 1 0 0 0 0
1496 0.8600612870.8781138790.89022351520.9444444444-0.05422092923 0.1399387130.10977648480.05555555556
1374 0.73544433090.76957295370.79246635360.8888888889-0.09642253531 0.26455566910.20753364640.1111111111
1331 0.69152196120.7313167260.75801096050.8333333333-0.07532237279 0.30847803880.24198903950.1666666667
1207 0.56486210420.62099644130.65865122250.7777777778-0.1191265553 0.43513789580.34134877750.2222222222
1075 0.43003064350.50355871890.55288117880.7222222222-0.1693410435 0.43003064350.44711882120.2777777778
1066 0.42083758940.49400479620.54427645790.6666666667-0.1223902088 0.42083758940.45572354210.3333333333
1039 0.3932584270.46163069540.51511879050.6111111111-0.09599232061 0.3932584270.48488120950.3888888889
1032 0.38610827370.45323741010.50755939520.5555555556-0.04799616031 0.38610827370.49244060480.4444444444
1025 0.37895812050.4448441247 0.50.47222222220.02777777778 0.3789581205 0.50.4722222222
1025 0.37895812050.4448441247 0.50.47222222220.02777777778 0.3789581205 0.50.4722222222
1013 0.3667007150.43045563550.48382749330.38888888890.09493860437 0.3667007150.48382749330.3888888889
1003 0.35648621040.41846522780.47035040430.33333333330.137017071 0.35648621040.47035040430.3333333333

963 0.3156281920.37050359710.41644204850.27777777780.1386642707 0.3156281920.41644204850.2777777778
905 0.25638406540.30095923260.33827493260.22222222220.1160527104 0.25638406540.33827493260.2222222222
870 0.22063329930.25899280580.29110512130.16666666670.1244384546 0.22063329930.29110512130.1666666667
834 0.18386108270.21582733810.24258760110.11111111110.13147649 0.18386108270.24258760110.1111111111
804 0.15321756890.17985611510.20215633420.055555555560.1466007787 0.15321756890.20215633420.05555555556
654 0 0 0 0 0 0 0 0

0.9447439353
Diff.5 0.074055158320.02751685147-0.008627989975

Avg 1071 Average 0.42594484170.47248314850.50862799 0.5
Median 1025 Median 0.4448441247

SDev 237.3258919 <50% 0.7368421053 0.4210526316



[1] RankECDF achieves .5 mean with the way it handles ties.  S Transform doesn't handle ties at all.  Need 
to somehow take into account the # of occurance of said value.  Similar to change in y * change in x, if x is 
2 occurances (i.e. 2 occurances of a single value)


